Comparison of Consequence Estimation Model Using Machine
Learning Technology
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1. =X A2|(Problem Definition)

1.

> 97|X| = 1 E(Xe, Cs, -+ ,La)2| WHE=E=(0-1)0]] ot
2 oy 2
4, OO &M

> MR 157| W= 22(0-1)00 CHEl Uniform B2 71H(0
> 10,0007H2| LHS(Latin Hypercube Sampling) =3 % Z

A

Model1.out
Model2.out
Model3.out
Modeld.out
Model5.out
Model6.out

Model9997.out
Model9998.o0ut
Model9999.out
Model10000.out

HiZ o5k

> Level 3PSA
> LCl7] Level 3 PSAE +=3517| fIsHM=
> HE ZE IES 6171 fIsiM Cieksta =

E

Xe
0.935813
0.944064
0.058822
(0.496441
0.265422
0.700237

0.356604
0.033572
0.333517
0.141152

= AOIO
— T L=

gtol

C
Cs

0.271075
0475762
0.995954
0.770491
0.352622

0.81749

0.981764
0.351718
0.013866
0.611811

et —%
HeE

D
Ba
0.180771
0.312053
0.735196
0.208338
0.191012
0.941062

0.516944
0.526632
0.871355
0.931245
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o H o

st

1X=]
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E

0.296865
0.182343
0.620115

0.95046
0.061863
0.021987

0.979931
0.668728
0.579371
0.740499

, 22| FRE0| Ciet HZHES Yolols Wl

B
Mo 47} E=

SI0|E1S £HES104, AlAS A X] OlL5t =

rin

-1
ok
=

F

0.446958
0.517058
0.963037
0.201525
0.637979
0.501194

0.202416
0.748873
0.725287
0.192262

S

EM ez

€
Ru
0.734332
0.012851
0.951096
0.952312
0.183665
0.512394

0.621013
0.276102
0.466195
0.936708

Mo
0.408556
0.789794
0.135571
0.584485
0.069416
0.228431

0.100477
0.193047

0.39162
0.018031

Ce
0.776604
0.142251
0.635692
(0.652815
0.322771
(0.531725

0.481213
0.882266
0.416885
0.165533

Zgak 0| = (7|E} features =7} 0| ™)

La
0.885355
0.731276
0.705072
0.991367
0.763212
0.774355

0.268502
0.616257
0.737274

0.85219

EEES

EF-2

ol
A

51.3
46.1
50.5
51.6
47.3
49.6

45.7
50.5

49
48.2

=7l=0l

EF-5

356
293
347
358
310
338

286
348
331
321

1]
o
ot

M
EF-10

942
564
851
957
659
795

508
861
742
692

M

LF-10
2510
2690
2550
2530
2660
2590

2540
2490
2610
2700

o
LF-16
10200
10200
10200
10300
10300
10300

9140
9990
10300
10600

p
LF-26
115000
94400
108000
118000
100000
107000

76300
104000
104000
107000



2. JJO|E{ &= /EFM(Data)

Lo E{ =t
ol Ml C{|0|E{ > PANDAS X}2& [J|0|E{ 2 ¥ & (222 7))

1.

>
. EEU A2
. O|&X| mte}
. Ho|E Bx=
> SRS (Xe, --,La) AFO]2]

count 18868 .0880080
mean
std
min
25%

Safe
75%
max

[k
b

©.500000
8.288699
8.800831
8.250816
8.5080825
8.7508a7
8.9090054

[8 rows x 15 columns]
PS D:\PSH> [|

<H|0|E{Q| EA| Zt(mean, std, min ...)

Xe

1. 686060
9.083246
9.883588
-8.802973
9.0008039
8.818342
8.0885153
-0.000359
-6.008462
8.886571
9.085187
8.883501
9.082207
9.003668
8.0882182

[
9.883246
1.8060000
9.801810

-0.008964
9.808619
-6.004893
-8.002667
9.082199
-8.005160
9.084859
9.085017
-8.000887
9.0883836
9.081612
9.8868732

Ba
9.0883588

I
-8.802973

9.801810 -0.000904
1.8060000 -0.684762

-0.004762
8.008237

1. 686060
-8.002392

-08.001624 -0.688223

-8.0087682
9.0008596
9.883825
8.866167
8.867779
9.826879
9.819937
8.833175
9.828149

0.603644
-08.001336
-8.001923

0.843256

0.839445

0.620957
-0.006244

©.006814

©.6a87a67

Te
©.688089
©.600619
0.688237

-8.002392
1.686006
-6.0014638
©.600349
-8.001799
©.684370
08.879151
©.883469
©8.854607
-8.635585
©.885138
0.817447

Ru
©.818342
-0.004093

Mo
©8.885153
-8.002667

-8.881624 -6.ee87e2

-8.000223
-0.0014638
1.666806
©.6084356
-8.001237
-8.006366
0.167912
©.106010
8.896773
8.897810
©.893943
0.184242

Ce
-0.008359
9.082199
©.088506

©.603644 -0.081336

©.000349
©.684206

-08.001799
-8.081237

1.000060 -0.8681217

-8.001217
9.884229
9.865412
©.0864305
©.843926

-8.043961

-8.085885
8.812312

1. 000000
-0.000640
8.679773
09.672603
0.678558
-0.196662
9.198415
08.356815

-0.085100
9.883825
-0.081923
0.e84370
-0.086366
0.0884229
-0.000640
1.066000
9.693012
9.683651
8.725833
0.647322
9.829791
©.898630

s

=

>

EF-2
8.886571
©.084859
0.866167
9.843256
8.879151
8.187912
9.865412
0.679773
9.693612
1.060000
9.997562
9.990377
09.417089
9.793359
8.916198

[

1.866608e+04

168080 . 680000

4.999990e-01
2.886895e-81
6.887466e-87
2.588392e-81
4.900082e-81
7.400587e-81
9.900186e-81

47.268210

3.851966
35.300000
45.300080
47 . 780080
49680080
53.300000

EF-5
©.885187
©9.085017
8.867779
9.835445
©9.883469
8.186616
©9.864305
©9.672603
9.683651
8.997562
1.000000
©.983684
9.432637
0.883277
9.914548

EF-16
9.883581
-0.0080887
©.826879
©9.0820957
9.854607
8.896773
©.848926
©.670550
8.725833
9.990377
©.983084
1.060000
9.362451
0.76257@
8.916731

LF-16
©.082207
©.0083836
©.0819937

-0.0086244
-0.835505
8.0897810
-8.843961
-0.196662
9.647322
©.417089
©.432637
9.362451
1.060000
9.872460
8.673168

LF-16
©.0683668
9.081612
9.833175
©.006814
©.085138
©.0698048

-0.885885
©.190415
9.820701
©.793359
9.863277
8.762570
0.872460
1.060000
9.948513

&

0 e’ "c:\Use ser\.
821-87-89 10:53:16.923682: I tensorflow/stream executor/platform/

Unnamed: @
Model1.out
Model2.out
[ ER T
Model4.out
Mode! ut

LF-26
©.0882182
9.080732
9.0828149
©.087067
0.017447
9.184242
9.812312
©.356815
©.898630
©.916198
9.914548
9.916731
8.673160
9.940513
1.860000

Xe
8.935813
©0.944064
©0.858822
0.496441
8.265422

Cs
8.271875
©8.475762
©.996954
8.770401
8.352622

Ba I
8.188771 ©.296865
9.312653 0.182343
0.735196 0.620115
©.208338 0.980460
9.191912 ©.861863

Te
8.446958
©8.517058
©8.963037
©8.201525
8.637979

Ru
0.734332
9.912851
9.951895
9.952312
9.183665

Mo
8.488556
0.789794
@.135571
9.584485
9.869416

Ce
8.776684
©0.142251
©8.635602
©8.652815
8.322771

La
8.885355
8.731276
8.705872
8.991367
8.763212

<Excel to PANDAS X}& H

Xe

Cs

Ba

I

Te

Ru
Mo
Ce

La
EF-2
EF-5
EF-10
LF-10
LF-16
LF-26

Te
Ru
Mo
Ce

28 8

EF-5

EF-2
EF-10

< Ato|o] AEEHA|(correlation) 241, A2H2HAH| Heat map>

EF-2 EF-5
356
293
347
358
318

51.3
46.1
50.5
51.6
47.3

LF-10

LF-16

LF-26

EF-18
942
564
851
957
659

ault/dso_loader.cc:53] Successfully opened dynamic library cudart64_110.

LF-18 LF-16
2518 18208
2600 10200
2550 16200
2530 16300
2668 10300




3. OI0|E{ Z1X{2|(Preprocessing)

1. LIS ClolEf 2t
2. ZSU AR

3. OIAXI 2l

4. X2 W

5. BN
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x_rram x_rr-t_.r, __.f_tr'ain, y_test = train_test_split(x_data, y data, test_size=8.2, shuffle=Tru

RMSE(Root Mean Squared Error)

MAE(Mean Absolute Error)

MSE(Mean Squared Error)

2ol sk :
2 sk (Modeling)
H/HAS O0|E| 2t
A I0|E| &, 20~30%2| LIOIEIE ZHZ0j A 0]= Zi0] X3t
dus I:1|0|E'|: gicio 2 MAsH(shuffle=True)

e, random_state=12)

a2 E M (7]Al=kE)
@ Hjoj2ajel 2l M 3|7 (Linear Regression) 2
@ |:|. stAl el > X} |:|.°|-AI ~ 15X} |:|.o|-M il
® H| Md 3|7 R (SJAIAEHLIS, HEH XA E, XGBoost)
@ DICH = gh(overfitting), Tt2 = 8H(underfitting) B X|
v I Hel: 20| shE50]| ALZ et 00| E{ 2} H| =<8t |0 | E{
of, ZAslalR x| 25 =2 EMS 2H= oo E{0fl CHsHA]
0i%) (L5 & SH0LM 2HD)
. =~ ’5121 =8 Oo|E{e| S 4= ulo} 3}7| SE6IX| 22
;lill)g 0| Ek=5}7{L} Cl|0|E{ TH==7} &

MSEQ| X|&=2

V)2l Xtof, = ThARe| ZrHgt

V)Ll X0, & THAte| M&

<&% BlojE 2>

Regression:

predictor too inflexible:
cannot capture pattern

predictor too flexible:
fits noise in the data

o " X
smIsy -
x X; | X X
X e
X
2 maoh X X x %X
S Sa



4, 22 stz (Modeling)

1. M S| 2H(Linear Regression Model) ¥ L2/L1 X
> AL BIHE| 28 MSES XISE2E ZEASILE AL ZE2 3| S71E > 4X10f|M 6 XM A10] 6f|F5H= XM 0IA = &8 3|7 Q]
> TEST MSE= 6t WA AI0|F2 T S715101 MAHE 22 iCH 2 eh(overfitting)2 U2 > A H
> MO/t EHE £0(7] 98 22 L2 #AI(Ridge T#Al)/L1 X (LASSO: Least Absolute Shrinkage and Selection Operator)7} 9}

Hi7

H| 2 #6 At & ‘
pf = PolynomialFeatures(degree=6)

Train MSE  Test MSE

rx
r 0%
ot
=

PR Al s
1KF 2 Al 0.2604525 0.267284 overfitting % traln poly = pf.Fit: trensform(x train)
2K B A 0.0117238 0.010514  underfitting
EPNR-ESEN 0.0045385  0.004155  underfitting [t O
o Ir.fit(x_train_poly, y_train)
VNI SRS 0.0023242  0.002421 overfitting
SEN = SRS 0.0012774  0.002569 overfitting #| A€ GIOIEIH CHE IS £ ot
6XF HIEAlL 00004664 0006982  overfitting [ ua e S :
train_mse = mean_squared_error(y_train, y_train_pred)
7R EE A 0 0.056855 overfitting print(“Train MSE:%.8f" % train_mse)
8At L84 0 0.053074  overfitting i
N e X_test poly = pf.fit_transform(x_test)
PN SR 0 0.056577  overfitting g AEst pirked s B predicE(E BeEt. polv)
10K} 2 Al 0 0.065499 overfitting test_mse = mean_squared_error(y_test, y test pred)
11X|_ %HS&! 0 0080129 Overﬁtting pr‘int("?:;L MSE:%.8f" % teSt_mse)
12K g4 0 0.10198 overfitting
13X 284 0 0.133509  overfitting
14X} 284 0 0.178073  overfitting
15K 2 A 0 0.239788 overfitting




4, 22 stz (Modeling)

2. H|M'E 3|F 2 H(Linear Regression Model)
> S|AIZAELIR(Single Decision Tree)

- Eilinee) 2N2ITE MBSt [ et ™|
> §E|9-| 7_!. -E—7I’é1(node)0IIE E1|0|Ei’51'9-I EIJ‘:{(Q%E#—)E %H—I‘&I '?’liléul' Single decision tree iteration: All samples
> HHE EAE(Multiple Decision Tree)
> XGBoost(Sequential Tree)

Drecigion
'

HM™2[#  Train MSE  Test MSE H| 2 e
O[AFZAMLIE  0.13135125 0.29466080  overfitting
HHTHAE  0.06334497 0.12851057  overfitting

XGBoost 0.00051215 0.05887720 overfitting | Bagging Parallel ree growing with subsamples

000/ @00 0@0

Drecigion
Tree 2 D

- . : s
dtr.fit(x_train, y_train)
Decision Dedision Dacision Decision
Tree Tree 2 Tree 3 'I:rE--! 3
y_train_pred = dtr.predict(x_train)
= d = x A =3 ".'.'. r\..,'l,' I..II.. .'..
train_mse = mean_squared error(y_train, y_train_pred) S5 Julia Nikuisk

print{"Train MSE:%.8f" % train_mse)

y_test_pred = dtr.predict(x_test)
test _mse mean_squared_error(y_test, y test pred)
print({"Test MS5E:%.8f" % test mse)
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4, 2 stz (Modeling)

. OB MEL 7

- TensorFlow2| Keras & Al . _ ,
_ def build model(num_input=1):
- .ILl'EI‘DIE‘I#— model = ¢ ial()
- 12161=128%(9+1) + 64* (128 + 1) + 32 * (64 +1) + 16 * (32 +1) + 1 * (16+1) e e toenecon. s i
- model.
- uII"I HHxI model .add(
- SHS SEAIZ O] MZ OoIE S & 14 =EHM 7HSXIE a5t ™M sta AlZHo| wodel.add(Dense(1, activation-
23“ 7E-IE_|E qE_x-“yl. 9‘}% model .compile(optimizer="adam",lo
o _ _ _ return model
- OJL| HHX]| k&2 0421 JH2| =2 HiX| Tl = LIS=11 HiX| 0] S0{ l= ME HIOIEIE
%o.lA-I E%o" glglig}E 33 model = build_model{num_input=0)
= = = 5 = = =] 5 == print{typs(model))
- HE| BRI ZASIZEIS HSEhT 2UME HANHE YO JISAIE HO0] e )
—_—

ey =2 Owazs

¢<class "tensorflow.python.keras.engine.sequential.Sequential®>

Trainable params: 12,161
Mon-trainable params: @

é : A EIN Model: “sequential®
i : Al -
X2 ’ i' { } :;
E i TN
| ! A
X3 i E >
‘_ { } Total params: 12,161




4, 2l st=(Modeling)

model = build model(num_input=9)

A J—
= DILI HHII 2!'l=l print(type(model))
- M| 22 GIO|EIS 32704 TE5104 OIL| BiX| A print(model.sunnary())
- 10000/32 = 312.5 (3137} HHX| A4A) print{model.fit{x train, y_train, epochs=188, batch_size=32, verbose=2}}

- OfZ3(epoch): 100 (&5 El4) #3J}
- >>7I=EX| HI0|E 214 =313 * 100 =31,300(&l]) print{model.evaluate(x_test, y test))

- Ox|% 1OOE'WH Qili_ﬂﬂ 242 I 0|0 E{0f| CHE &4 &=(loss)= 0.0084 0|11
metrics FM0| FI}st EX X|EQ] MAE= 0.0734

- stEEl 2o CHst HIHevaluate) Z 3t £ &8t (loss)= 0.0033 0|12 MAE= 0.0457

. Epoch 93/188
=&l Train MSE  Test MSE H| 2 250/250 - 1s - loss: ©.81190 : 9.8873
MLP & 0.0084 0.0033 underfitting Epoch 94/100

258/258 - 1s - loss: 8.8129 : ©.9988

Epoch 95/1808

258/258 - 1s - loss: @.e87@ : 8.9654

Epoch 96/168

258/258 - 1s - loss: 0.8892 : 8.8751

Epoch 97/160

258/258 - 1s - loss: 8.80893 1 8.8753

Epoch 98/188

258/258 - 1s - loss: 8.8885 : 8.8727

Epoch 99/188

258/258 - 1s - loss: 8.8181 : B.8786

Epoch 188/168

258258 - 1s - loss: 9.8884 - mae: B8.8734
<tensorflow.python.keras.callbacks _History object at @xB8888826BACSCI286>

] - ©s 3ms/step - loss: ©.8833 - mae: ©.8458
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